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



 

 

 

 

 

 

A

B C

ABC  :  

 : AB , BC , CA

 : A, B  C 

 : BAC CAB, ABC CBA 
ACB BCA. 

'' 

 

Ex.1 A, B  C 
 ? 

Sol.  , 

Ex.2 LMN , 

(a) M 

  (b)  LM 

  (c)  NL . 

  (d)  N 

Sol.  (a) M  LN 

(b)  LM N 

  (c) NL  M 

  (d)  N  LM 

Ex.3 ? 
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A

B

D

F

E

C

Sol.  ABC,ADE,ABE,ADC,BFC,BFD, 
BDE,CEF,CED,DEF,BCD,BEC. 

12 

ABC 

, ABC P 
A

B C

P
Q

ABC 
Q ABC 
A

B C

P
Q

ABC  (  P 
) ABC 

 ( Q ) 
ABC 

1.  : 

90º 

1.  : 

A

CB
4 cm

4 cm 4 cm

2.  :

90º 

100º 30º

50º

A

CD

2.  : 

A

CB
6 cm

5 cm 5 cm

3.  : 

90º 
90º 

90º 30º

60º

A

CB

3.  : 

A

CB 8 cm

6 cm 7 cm

180º 

1

2 3

5 4
P

RQ

S T

 :  PQR 
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 : 1 + 2 + 3 = 180º 

180º 

 : P ,  ST ; QR 

 :  ST || QR PQ 

 2 = 5       ( )  …(1) 

 ST || QR PR 

 3 = 4         ( )  …(2) 

 (1)  (2), 

 2 + 3 = 5 + 4          …(3) 

(3) 1 ,  

1 + 2 + 3 = 1 + 5 + 4 

 1 + 2 + 3 = 180º  

      (as 1 + 5 + 4 = 180º) 

 :  

(i). 60º 

 (ii) 

 (iii) 

 (iv) 

 (v) 

 (vi) 90º 

 (vii) 

 

Ex.4
: 

(i) 2 cm, 3 cm, 2 cm  (ii) 2 cm, 2 cm, 2 cm  

 (iii) 3 cm, 6 cm, 4 cm  

Sol. (i)  

(ii)  

 (iii) 

Ex. 5
 : 

(i)

70º

30º

80º

(ii) 

(iii) 
20º

90º 70º

(iv) 
40º

45º 95º

(v) 
40º

50º 90º

        (vi) 

Sol. (i)  

(ii) (130°) 

 (iii) 

 (iv) (95°) , 

 (v) (90°) 

 (vi) 

Ex. 6
 : 

(i) 50°, 40°, 90°  (ii) 120°, 30°, 30° 
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 (iii) 70°, 60°, 50° 

Sol. (i) 

(ii) 

 (iii) 

Ex.7
 : 

(a) 3.5 cm, 4 cm, 4 cm (b) 6 cm, 7 cm, 9 cm 

 (c) 6.2 cm, 6.2 cm, 6.2 cm 

Sol. (a)

 (b)  

 (c) 

Ex.8
 : 

(a) 60º, 30º, 90º  

 (b) 120º, 40º, 20º 

 (c) 60º, 60º, 60º 

Sol. (a) 90º 

 (b) (90º)  (120º) 

(c) 60º 

Ex.9 70º  30º 

Sol.  PQR P = 70º, 
Q = 30º R 

 P + Q + R = 180º  

) 

 70º + 30º + R = 180º 

 100º + R = 180º 

R = 180º – 100º  

 R = 80º 

Ex.10 70º 
 ; 

Sol.  PQR :  

P = 70º Q = R = x ( ) 

P + Q + R = 180º  

      ( ) 

  70º + x + x =180º  

    2x = 180º – 70º 

    2x = 110º 

     x = 
2

º110

     x = 55º  

P

Q R

70º

x x

55º 

Ex.11

(i)   PQR  Q 

 (ii)  LMN LM 

 (iii) RST RT 

Sol. (i) Q  PR 
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P

Q R

 (ii) LM N 

L

M N

(iii) RST S 

R

S T

Ex.12
: 

(i) 53°, 73°, 83°  (ii) 59°, 12°, 109° 
 (iii) 45°, 45°, 90° (iv) 30°, 120°, 30° 
Sol. (i)  53° + 73° + 83° = 209° > 180°  

 (ii)  59° + 12° + 109° = 180°  

 (iii) 45° + 45° + 90° = 180°  

 (iv) 30° + 120° + 30° = 180°  

Ex.13
 ?  

Sol. xº 

x + x + x = 180°  

 3x = 180°  

 x = 60° 

60° 

Ex.14 2 : 3 : 4 

Sol. 
  = 2 : 3 : 4 

 2x, 3x  4x 

  180° 

 2x + 3x + 4x = 180° 

 9x = 180°  

 x = 
9

180  = 20° 

 2x, 3x  4x 

 2 × 20°, 3 × 20°, 4 × 20°  

 40°, 60°  80° 

Ex.15 ABC , A = 2B C = 3B , 
ABC 

Sol. ABC 

A + B + C = 180° 

 2B + B + 3B = 180° 

6B = 180°  

B = 
6

180  = 30° 

B = 30° 

, A = 2B = 2 × 30° = 60° 

C = 3 B =  3 × 30° = 90° 

, A = 60°, B = 30° C = 90°. 

Ex.16 CD  AB A = 45° 
ADC,  CDB, ABC, DCB DCA 
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Sol. 
D

C
45° x

y

x

A

B

 CD  AB 

ADC = CDB = 90° 

ADC ,  

ADC + DAC + DCA = 180°  

( ) 

90° + 45° + z = 180° 

 z = 180° – 135° = 45° 

y = 90° – 45°  y = 45° 

ACB 

A + 90° + x = 180° 

45° + 90° + x = 180º 

135° + x = 180° 

x = 180° – 135° = 45°  

, x = 45°, y = 45°  z = 45° . 

Ex.17 AB || DC x, y  z 

Sol. 70° x
60°

z

yE

A

B

D

C

DEC = AEB    [ ] 

 x = 70° 

ABE = EDC  

[ AB || DC,    ] 

 y = 60º

DEC ,  

x + y + z = 180°  

            [  180° ] 

 70° + 60° + z = 180°  

 z = 180° – 30°  z = 50° 

, x = 70°, y = 60°  z = 50°  

Ex.18 , DE || AC, B = 40° C = 50° 
x, y  z 

Sol. 

ABC , 

A + B + C = 180°  

180° ] 

 z + 40° + 50° = 180°  

 z = 90° 

BDE ,  

y = z = 90°  

[ AC || DE  ] 

 x = ACB = 50° 

, x = 50°, y = 90°  z = 90°. 

Ex.19 ABC  50° 

Sol. 50°

A

CB

A = 50° B = C = x 

 180° 

A + B + C = 180° 

 50° + x + x = 180° 

 2x = 180° – 50° = 130° 
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 x = 
2

130  = 65°  

65° 

Ex.20 ABC , DE || AB  x, y  z 

Sol. 

60° 110°

x y
z

B F

C

E D

A

 DE || AB, , 

CED = CAB         [ ] 

 x = 60°  ...... (i) 

CDE = DBA ...... (ii) 

        [ ] 

DBA + DBF = 180°    [ ] 

DBA + 110° = 180°  

DBA = 180° – 110° = 70°  

DBA = 70°, (ii) ,  

CDE = 70°   y = 70° 

DBE ,  

 x + y + z = 180°  

[ 180° ] 

 60° + 70° + z = 180°  

 130° + z = 180° 

 z = 180° – 130° = 50° 

, x = 60°, y = 70°  z = 50° 

Ex.21
360° 

Sol. ABC 

B
6

3

F
C

42
D

1
5 A

E

1, 2  3 
4, 5  6 

 2 + 4 = 180° [ ]   .......(i) 

3 + 6 = 180° [ ]   ......(ii) 

5 + 1 = 180° [ ]  ...... (iii) 

 (i)  (ii)  (iii) , 

2 + 4 + 3 + 6 + 5 + 1  = 540° 

4 + 5 + 6 + (1 + 2 + 3) = 540° 

4 + 5 + 6 + 

 [ 1, 2 3 ; ABC 
( 180°) ] 

4 + 5 + 6 = 540° – 180° = 360°. 

Ex.22

A + B + C + D + E + F 

Sol. 

180° 

 ABC ,  

A + B + C = 180°   .....(i) 

, DEF ,  

D + E + F = 180°  .....(ii) 
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(i)  (ii) ,  

A + B + C + D + E + F = 360°. 

, LMN S ; MN 
LS, L 

L

G
R

NSM

T

LS ; LMN 

RN  MT LMN 

 : 

 (i) 

 (ii) G 
( ) 

 (iii) 

 (iv) 2 : 1 

 (v) 

 (i)  PS, QR 

P

RQ S

 (ii)  AD D BC 

A

CD
B

 (iii) PQ, PQR 
QR 

P

RQ
Note : 
(i) 

(ii) H  (
)

(iii) [  (i)], 
 [  (ii)] [  (iii)] 
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A

CB
D

F E

(i)

H

H

CB
D

E F

(ii)

A

A

CB
(F)

(iii)

E

H

(D)



 :  

1. 

2. 

( ) 

1. 1.

2. 2.

3. 3.

 PQR QR 
RS [  (i)]   R 

PQR PRS(4) 1 
2  

4 = 1 + 2. 

P

R
Q

2

1

(i)

3 S
4

P

RQ
2

1

(ii)
3

T

5
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P

RQ 2

1

(iii)

3

U

6

 (ii) , 5 P 2 
3 5 = 2 + 3 

 (iii) , 6 Q 1 
3 

6 = 1 + 3 

 :  

 (i) 

 (ii) 

 (iii) 

 

Ex.23  ? 

Sol.

Ex.24  : 

 (i)   

 (ii)  _______ 

 (iii) 
________ 

Sol. (i)   (ii)  (iii) 

Ex.25 PQR , D ; QR

 (i)   PM  _______ (ii)  PD  _______ 

 (iii)  QM = MR ? 

Sol. 

P

RQ M D

 (i)   PM  (ii)  PD 

 (iii) , QM  MR. 

Ex.26 x 

x70º

50º

(i)

x

38º 40º
(ii)

x
50º

50º

(iii)

Sol. (i) x = 50º + 70º  

(
) 

,  x = 120º  

 (ii) x = 38º + 40º  

(
) 

,  x = 78º 

 (iii) x = 50º + 50º 

(
) 

, x = 100º. 
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Ex.27 x 
 : 

100º

70º

x

(i)

75º
35º

x

(iii)

Sol. (i) 100º = 70º + x  

  (
) 

     100º – 70º = x  

                   30º = x 

,       x = 30º 

 (ii) 120º = 60º + x 

  (
) 

      120º – 60º = x  

           60 º = x  

,         x = 60º 

 (iii)       75º = 35º + x 

        75º – 35º = x 

        40º = x  

,         x = 40º 

Ex.28 x  y 

Sol. APQ = BAP + ABP  

( ) 

  130º = y + 58º  

  130º – 58º = y  

,  y = 72º  

, x + 130º = 180º ( ) 

             x = 180º – 130º  

,            x = 50º 

Ex.29 x 

A

CB
x

55º

D
120º

Sol.

 = 

 55º + x = 120º  

          x = 120º – 55º = 65º 

Ex.30 x  y 

A

CB
x

50º

D
y 

70º

Sol.  70º + y = 180º  ( ) 
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 y = 180º – 70º  = 110º 

 = 

 y = x + 50º   

  110º = x + 50º 

 x = 60º 

 PQ + QR > PR  PR + QR >  PQ  PQ + PR > QR 

P

Q R

 

Ex.31 ? 

(i) 2 cm, 3 cm, 5 cm    (ii) 3 cm, 6 cm, 7 cm 
 (iii) 6 cm, 3 cm, 2 cm 

Sol. (i) 

  2 + 3 /  5  

  ( (2 cm, 3 cm) 5 cm 
) 

 (ii) 3 cm, 6 cm, 7 cm 
  3 + 6 = 9 > 7 
  6 + 7 = 13 > 3 
  7 + 3 = 10 > 6  

 (iii) 6 cm, 3 cm, 2 cm 
  As 6 + 3 = 9 > 2 

  3 + 2 = 5 | 6  

  6 + 2 = 8 > 3 

 3 + 2 = 5 | 6 

Ex.32 PQR O 
 ? 

 (i) OP + OQ > PQ ? (ii) OQ + OR > QR ? 
 (iii) OR + OP > RP ? 

Sol.

 (i) OP + OQ > PQ 

(POQ 
) 

  (ii) OQ + OR > QR 

  (ROQ 
) 

 (iii) OR + OP > RP 

  (POR 
) 

Ex.33  ABC  AM 

AB +BC + CA > 2AM ?  

Sol. ABM , 

  AB + BM > AM  …(1) 

 (
) 

AMC 

  AC + MC > AM   …(2)  

  (1)  (2) ,  
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  AB + BM + AC + MC > AM + AM 

AB + AC + (BM + MC) > 2 AM 

AB + AC + BC > 2 AM ( BM + MC = BC) 

Ex.34 ABCD 

 AB + BC + CD + DA > AC + BD  ? 

A

D

C

B

Sol. ABC 

 AB + BC > AC   …(1) 

 (
) 

, ADC 

  AD + DC > AC   …(2) 

 ( ) 

ABD , AB + AD > BD …(3) 

BCD , BC + CD > BD …(4) 

 (1), (2), (3)  (4) 

  2(AB + BC + CD + DA) > 2 (AC + BD) 

 AB + BC + CD + DA > AC + BD 

Ex.35  6 cm 
10 cm 

 ? 

Sol.



 6 + 10 = 16 cm 

 10 – 6 = 4 cm 

 4 cm  16 cm 

Ex.36 ABCD 

 AB + BC + CD + DA < 2 (AC + BD) ?  

Sol.  ABCD  O 

O

CD

A B

OAB , 

 OA + OB > AB    …(1) 

(

) 

OBC , 

 OB + OC > BC    …(2) 
(

) 

DOC , OC + OD > DC …(3) 

AOD , OA + OD > AD …(4) 
 (1), (2), (3)  (4), 

2(OA + OB+ OC + OD) > AB + BC + DC + AD 
 2(OA + OC) + 2 (OB + OD)  

> AB + BC + DC + AC 
 2(AC + BD) > AB + BC + DC + AD 
 [ OA + OC = AC  OB + OD = BD] 

 or   AB + BC + CD + DA < 2(AC + BD) 
   :

 (i) 

 (ii) 

 (
) 



Power by: VISIONet Info Solution Pvt. Ltd 
Website : www.edubull.com Mob no. : +91-9350679141

Edubull

PQR , Q = 90º 
   PR2 = PQ2 + RQ2 

 : 

(i) 

 (ii) 

 (iii) (
) 

 (iv)  a, b, c 
c2 = a2 + b2

(3, 4, 5), (8, 15, 12) 

 32 + 42 = 52, 82 + 122 = 152. 

   :

PQR  PR2 = PQ2 + RQ2,  Q 

 

Ex.37 PQR  P 
PQ = 10 cm  PR = 24 cm QR 

Sol. RPQ 

 RQ2 = PQ2 + PR2

 RQ2 = (10)2 + (24)2 = 100 + 576 

 RQ2 = 676 

 RQ2 = 262 ( 676 = 26 × 26) 

 RQ = 26 cm 

Ex.38 ABC C 
AB = 25 cm AC = 7 cm  BC 

Sol. ABC , 

A

B C

7 cm 
25 cm

         AB2 = AC2 + BC2

        (25)2 = (7)2 + BC2

          625 = 49 + BC2

  625 – 49 = BC2

          576 = BC2

           242 = BC2  ( 24 × 24 = 576) 

          BC = 24 cm 

Ex.39  15 m  12 m 
 'a' 

Sol. ABC , 
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)

C B

15 cm
12 cm

a

             AC2 = AB2 + BC2

  152 = 122 + BC2

              225 = 144 + BC2

    225 – 144 = BC2

   81 = BC2

    92 = BC2

 BC = 9 m  

, a = 9 m ( BC = a) 

Ex.40  5 m 
 12 m 

Sol.  AB  C 

CB;   CD 

12 m

B

5 m

D
A

C

 :  AB 

  AC + BC 

 AC + CD ( BC = CD) 

ACD , 

   CD2 = AC2 + AD2

   CD2 = (5)2 + (12)2

  = 25 + 144 = 169 

   CD2 = 132

    CD = 13 m

     = AC + BC 

          = AC + CD (BC=CD) 

          = (5 + 13)m  

      = 18 m 

 = 18 m 

Ex.41
40 cm  41 cm 

Sol.  ABCD  AB = 40 cm, 
 AC = 41 cm 

90º ABC = 90º 

ABC , 

    AC2 = AB2 + BC2

   (41)2 = (40)2 + BC2

  1681 = 1600 + BC2

 1681 – 1600 = BC2

  81 = BC2

      92 = BC2

 BC = 9 cm 

 = 9 cm 

= 2 (  + ) 

      = 2 (40 + 9) cm  

      = 2 × 49 cm  
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 = 98 cm 

Ex.42 16 cm 
30 cm 

Sol.  ABCD AC 
BD  16 cm  30 cm 

 AO = OC 
OB = OD 

AOD = 90º 

  AO = 
2

16
2

AC
 = 8 cm 

  DO = 
2
30

2
BD

 = 15 cm 

AOD , 

  AD2 = AO2 + DO2

  AD2 = (8)2 + (15)2

          = 64 + 225 

  AD2 = 289 

  AD2 = 172

   AD = 17 cm 

 = 4 × 

        = 4 × AD 

        = 4 × 17 cm 

 = 68 cm 

Ex.43 PQR  Q  R; 25º  65º 

 (i)   PQ2 + QR2 = RP2

(ii)  PQ2 + RP2 = QR2

 (iii) RP2 + QR2 = PQ2

P

Q R25º 65º

Sol. PQR 

P + Q + R = 180º 

P + 25º + 65º = 180º 

P + 90º = 180º 

P = 180º – 90º = 90º 

 PQR P = 90º 



   QR2 = PQ2 + PR2

 (ii) 

Ex.44 ? 

(i)   2.5 cm, 6.5 cm, 6 cm  

(ii)  2 cm, 2 cm, 5 cm 

(iii) 1.5 cm, 2 cm, 2.5 cm ? 

Sol.
( ) 

(i)  a = 2.5, b = 6.5, c = 6 

 a2 + c2 = [(2.5)2 + (6)2] cm2

            = (6.25 + 36) cm2

 a2 + c2 = 42.25 cm2

 b2 = (6.5)2 = 6.5 × 6.5 = 42.25 cm2

 a2 + c2 = b2

  2.5 cm, 6.5 cm, 6 cm 

(ii)  a = 2, b = 2, c = 5  
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 a2 + b2 = (2)2 + (2)2 = 4 + 4  

 a2 + b2 = 8 

,        c2 = (5)2 = 25  

 a2 + b2  c2 ( 8  25) 

 2 cm, 2 cm  5 cm 

 (iii)  a = 1.5 cm, b = 2 cm, c = 2.5 cm 

  a2 + b2 = (1.5)2 + (2)2

             = 2.25 + 4 = 6.25 

         c2 = (2.5)2

             = 6.25  

 a2 + b2 = c2

 1.5 cm, 2 cm  2.5 cm 

Ex.45 24 m  10 m 

? 

Sol.  O OP = 24 m 
 PQ = 10 m  

Q 

 OQ 

OPQ 

Q

10 m

24 m

N

W

S

O P E

  OQ2 = OP2 + PQ2

          = (24)2 + (10)2

          = 576 + 100 = 676  

  OQ2 = 262

   OQ = 26 m 

26 m 

Ex.46  13 m 
5 m 

12 m 

Sol.  AB  C D  E 
 5 m  12 m 

 CD  CE CDA, 

AC2 + AD2 = DC2

             AC2 = DC2 – AD2

        = 132 – 52

        = 169 – 25 = 144 

AC2 = 122

 AC = 12 m 

D

A C B

E

13 m
13 m

12 m
5 m

BEC , 

    CE2 = BE2 + BC2

  (13)2 = (12)2 + BC2

       169 – 144 = BC2

      25 = BC2

52 = BC2

    BC = 5 m.  
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       = AB = AC + BC  

       = 12 m + 5 m  

       = 17 m 

Ex.47 8 m  13 m 

 12 m 

Sol.  PQ  RS 

PQ = 8 m, RS = 13 m  QS = 12 m 

SQ

P T

R

8m8m
12 m

12 m

5m

 PR (

) 

 P , PT  RS 

 RT = RS – TS (TS = PQ = 8 m) 

= (13 – 8) m 

 RT = 5 m 

 PT = QS = 12 m 

PRT , 

 PR2 = PT2 + RT2

 PR2 = (12)2 + (5)2

        = 144 + 25 = 169  

 PR2 = 132

  PR = 13 m. 

 13 m 

Ex.48

A

B C

16 cm
?

30 cm

Sol. AC ( ) 

, 

  AC2 = AB2 + BC2

 AC × AC = AB × AB + BC × BC 

 AC × AC = 16 × 16 + 30 × 30 

         = 256 + 900  

       = 1156  

       = 34 × 34 

  AC = 34 cm 



Power by: VISIONet Info Solution Pvt. Ltd 
Website : www.edubull.com Mob no. : +91-9350679141

Edubull

Ex.49 XY 

Sol. XZ ( XZ ; Y 
) 

  XZ2 = XY2 + YZ2

 (13)2 = XY2 + (12)2

  XY2 = 132 – 122 = 169 – 144 = 25  

 (XY) × (XY) = 25 = 5 × 5 

 XY = 5 cm. 




